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Answer any five out of seven
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Q.1 |1 vs() =20 sin(100t - 40°) volt, find /(1) in the following figurc Q.1. ( CO-1 5 |
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Q. Za:)Find the r.m.s. valuc of the full wave rectified voltage in figure Q.3(a). CO-2 / 5 f
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‘ ’(5) Calculate the phasc shift angle by the RIL circuit in figure Q.3(b).
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Q4 [ (a) Determine 1, in the following [igure Q.4, when DC voltage source is active only. CO-2 5
(b) Calculate the rcactances when (1) vy is active only, and (2) v, 15 active only C(3)
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| Fig: Q.4 B {
“9{1" Calculate I, in the following circuit using (a) Norton’s thcorem, and (b) Thevenin’s | CO-2 5
' theorem. \ C(3)
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'(b) Obtain the equation for the super mesh in the following (igurc Q.6(b).
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YQdé/ \ (a) Obtain the nodal equations for the following ﬁgtlr(?éﬁ(éf 2 [ /
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(a) Using current divider rule, calculate I, i.ﬁhﬁdﬂ&?ﬁ@ @mc Q7
(b) Using concet of source thcorem, calculate also . |
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